
TOWING

AIRRIDE® PIN BOX COMPONENTS

Web: - https://support.lci1.com/documentation/ - Ph: (574) 537-8900 - Email: customerservice@lci1.comRev: 11.27.19 CCD-0003565

17 9/16"

41 3/4"

Side View

28 11/16"

A

Side View

41 13/16"

17 9/16"

B

Side View

C

41 13/16"

28 11/16"

17 9/16"

Callout Part # Description
A 171200 L05 Air Ride Pin Box; 16,000 (OBSOLETE, Replaced by 158778)
B 155930 L05 Air Ride Pin Box; 18,000 (OBSOLETE, Replaced by 158778)
C 158778 Long Jaw Air Ride Pin Box; 21,000

mailto:customerservice@lci1.com
https://store.lci1.com/l05-air-ride-pin-box-21000-lbs-158778.html
https://store.lci1.com/l05-air-ride-pin-box-21000-lbs-158778.html
https://store.lci1.com/l05-air-ride-pin-box-21000-lbs-158778.html
https://store.lci1.com/l05-air-ride-pin-box-21000-lbs-158778.html
https://store.lci1.com/l05-air-ride-pin-box-21000-lbs-158778.html


TOWING

AIRRIDE® PIN BOX COMPONENTS

Web: - https://support.lci1.com/documentation/ - Ph: (574) 537-8900 - Email: customerservice@lci1.comRev: 11.27.19 CCD-0003565

Side View

17 5/8"

D

E

Side View

F

35 9/16"

22 7/16"

17 7/16"

35 3/4"

22 7/16"

17 1/4"

Side View

41 3/4"

Callout Part # Description
D 158777 L07 Air Ride Pin Box; 21,000
E 179879 M15 HD Air Ride Pin Box; 18,000
F 155943 M19 Air Ride Pin Box; 21,000

mailto:customerservice@lci1.com
https://store.lci1.com/l07-air-ride-pin-box-21000-lbs-158777.html
https://store.lci1.com/m15-air-ride-pin-box-18000-lbs-179879.html
https://store.lci1.com/m19-air-ride-pin-box-21000-lbs-155943.html


TOWING

AIRRIDE® PIN BOX COMPONENTS

Web: - https://support.lci1.com/documentation/ - Ph: (574) 537-8900 - Email: customerservice@lci1.comRev: 11.27.19 CCD-0003565

Callout Part # Description
G 156740 Tank Valve
H 432404 Air Spring
I 156067 Long Jaw Sub Assembly
J 156144 Bearing; 2 3/4" x 1"
K 118044 Nylon Locking Nut; 3/8" - 16
L 118045 Nylon Locking Nut; 1/2" - 13
M 118155 Carriage Bolt; 3/8" - 16
N 119084 Fasten Bolt; 1/2" - 13 x 3 3/4"
O 122802 Washer; 1/2"
P 126545 Tap Bolt; 1/2" - 20

G H

J

K L M

N

O

P

Note: Part numbers are shown for identification purposes only. Not all parts are available for individual 
sale. All parts with a link to the Lippert Store can be purchased.

I

mailto:customerservice@lci1.com
https://store.lci1.com/pin-box-tank-valve-156740.html
https://store.lci1.com/air-spring-replacement-432404.html
https://store.lci1.com/air-ride-long-jaw-black-pin-box-sub-assembly-156067.html
https://store.lci1.com/bearing-275in-x-1in-156144.html
https://store.lci1.com/slide-out-hardware-fasteners-bolts-all-sizes-119084.html


TOWING

AIRRIDE® PIN BOX COMPONENTS

Web: - https://support.lci1.com/documentation/ - Ph: (574) 537-8900 - Email: customerservice@lci1.comRev: 11.27.19 CCD-0003565

Callout Part # Description
Q 156680 Rod; 13.38" x 1.50"
R 156612 Plate; 2.44" x 2.59"
S 177223 Shock

R
S

Q

mailto:customerservice@lci1.com
https://store.lci1.com/black-plate-244-x-259-1566121.html
https://store.lci1.com/shock-s8-for-air-ride-pin-box-177223.html

